ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024086

TRACS No.		S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:	
040	NA 283	F064501C	040-D-(248)T	103722	NAVAJO	NORTHEAST	0.1		Rene Teran	_

Highway Termini Location	Work Description
--------------------------	------------------

[•] FLAGSTAFF - HOLBROOK HIGHWAY (I-40)

[•] Perkins Valley TI UP 1776

[•]Capacity Additions (Major Bridge Rehabilitation)

Printed: 9/23/2025 Page 1 of 19

BID RESULTS FOR 2024086

Bid Opening Date: 8/8/2025, Prequalification Required, Engineer Specialist: Rene Teran

Completion Date:

350 Working Days

The proposed project is located in Navajo County on Interstate 40 on MP 283.4 within the Arizona Dept. of Transportation (ADOT) Northeast Engineering and Maintenance District. The work consists of replacing the existing bridge deck for the Perkins Valley Traffic Interchange Underpass structure bridge. Additional work includes existing guardrail, guardrail terminals, placing pavement markings and other miscellaneous work.

Bid Rank	Compared To Department Estimat Option	n# Bid Amount	Contractor	Extended Sum of Items
	+%	\$7,756,118.00	DEPARTMENT ESTIMATE	\$7,756,118.00
1	-10.1%	\$6,969,542.61	SEMA CONSTRUCTION, INC. 7353 S EAGLE STREET CENTENNIAL, CO 80112-	\$6,969,542.61
2	-1.0%	\$7,680,700.00	J. BANICKI CONSTRUCTION, INC. 4720 E. Cotton Gin Loop, Suite 240 Phoenix, AZ 85040-	\$7,680,700.00
3	2%	\$7,740,674.60	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$7,740,674.60
4	+11.5%	\$8,646,897.97	TECHNOLOGY CONSTRUCTION, INC. 5430 SIDE ROAD PRESCOTT, AZ 86301-	\$8,646,897.97

Winning Bidder is 10.1% Under Department Estimate (Difference = (\$786,575.39))

Printed: 9/23/2025 Page 2 of 19

*** Bid Tabs for Proposal Pamphlet 2024086 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020027	L.FT.	REMOVAL OF CONCRETE BARF	RIER			
Bid Rank	Department	Estimate	301.000	\$120.000	\$36,120.00	
1	SEMA CON	STRUCTION, INC.		\$33.000	\$9,933.00	-72.5%
2	J. BANICKI	CONSTRUCTION, INC.		\$55.000	\$16,555.00	-54.2%
3	FNF CONS	TRUCTION, INC.		\$100.000	\$30,100.00	-16.7%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$85.000	\$25,585.00	-29.2%
2020054	EACH	REMOVE (END TERMINAL)				
Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00	
1	SEMA CON	STRUCTION, INC.		\$788.460	\$788.46	+57.7%
2	J. BANICKI	CONSTRUCTION, INC.		\$1,100.000	\$1,100.00	+120.0%
3	FNF CONS	TRUCTION, INC.		\$1,000.000	\$1,000.00	+100.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$1,000.000	\$1,000.00	+100.0%
2020088	SQ.YD.	REMOVE BITUMINOUS PAVEME	NT (MILLING) (4 1/2" TO 6	")		
Bid Rank	Department	Estimate	3,348.000	\$10.000	\$33,480.00	
1	SEMA CON	STRUCTION, INC.		\$9.190	\$30,768.12	-8.1%
2	J. BANICKI	CONSTRUCTION, INC.		\$17.000	\$56,916.00	+70.0%
3	FNF CONS	TRUCTION, INC.		\$25.000	\$83,700.00	+150.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$12.000	\$40,176.00	+20.0%
2020115	EACH	REMOVE (GUARDRAIL TRANSIT	ION)			
Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00	
1	SEMA CON	STRUCTION, INC.		\$788.460	\$788.46	+57.7%
2	J. BANICKI	CONSTRUCTION, INC.		\$1,100.000	\$1,100.00	+120.0%
3	FNF CONS	TRUCTION, INC.		\$1,000.000	\$1,000.00	+100.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$1,000.000	\$1,000.00	+100.0%
2020155	EACH	REMOVE (SIGNS, POSTS AND F	OUNDATIONS)			
Bid Rank	Department	Estimate	6.000	\$225.000	\$1,350.00	
1	SEMA CON	STRUCTION, INC.		\$200.000	\$1,200.00	-11.1%
2	J. BANICKI	CONSTRUCTION, INC.		\$420.000	\$2,520.00	+86.7%
3	FNF CONS	TRUCTION, INC.		\$750.000	\$4,500.00	+233.3%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$270.000	\$1,620.00	+20.0%
2020157	EACH	REMOVE (EXISTING BRIDGE SI	GN STRUCTURE)			
Bid Rank	Department	Estimate	1.000	\$3,000.000	\$3,000.00	
1	SEMA CON	STRUCTION, INC.		\$7,000.000	\$7,000.00	+133.3%
2	J. BANICKI	CONSTRUCTION, INC.		\$2,750.000	\$2,750.00	-8.3%
3	FNF CONS	TRUCTION, INC.		\$10,000.000	\$10,000.00	+233.3%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$1,500.000	\$1,500.00	-50.0%
2020158	EACH	REMOVE (AND REPLACE SIGN	PANEL)			
Bid Rank	Department	Estimate	27.000	\$200.000	\$5,400.00	
1	SEMA CON	STRUCTION, INC.		\$400.000	\$10,800.00	+100.0%

Printed: 9/23/2025 Page 3 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
2020158	EACH	REMOVE (AND REPLACE SIGN	PANEL)				
Bid Rank	Departmen	t Estimate	27.000	\$200.000	\$5,400.00		
2	J. BANICK	I CONSTRUCTION, INC.		\$415.000	\$11,205.00	+107.5%	
3	FNF CONS	STRUCTION, INC.		\$600.000	\$16,200.00	+200.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$180.000	\$4,860.00	-10.0%	
2030112	L.FT.	SHOULDER BUILD-UP (MILLED	AC)				
Bid Rank	Departmen	t Estimate	749.000	\$20.000	\$14,980.00		
1	SEMA CON	ISTRUCTION, INC.		\$5.800	\$4,344.20	-71.0%	
2	J. BANICK	CONSTRUCTION, INC.		\$18.000	\$13,482.00	-10.0%	
3		STRUCTION, INC.		\$10.000	\$7,490.00	-50.0%	
4		OGY CONSTRUCTION, INC.		\$8.500	\$6,366.50	-57.5%	
2030113	HOUR	SHOULDER BUILD-UP (COMPA	CTION)				
Bid Rank	Departmen	,	1.000	\$500.000	\$500.00		
1	•	ISTRUCTION, INC.		\$311.360	\$311.36	-37.7%	
2		CONSTRUCTION, INC.		\$1,050.000	\$1,050.00	+110.0%	
3	FNF CONS	STRUCTION, INC.		\$1,000.000	\$1,000.00	+100.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$230.000	\$230.00	-54.0%	
2030301	CU.YD.	ROADWAY EXCAVATION					
Bid Rank	Departmen	t Estimate	229.000	\$200.000	\$45,800.00		
1	SEMA CON	NSTRUCTION, INC.		\$48.530	\$11,113.37	-75.7%	
2	J. BANICK	I CONSTRUCTION, INC.		\$99.000	\$22,671.00	-50.5%	
3	FNF CONS	STRUCTION, INC.		\$170.000	\$38,930.00	-15.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$52.000	\$11,908.00	-74.0%	
2050001	SQ.YD.	GRADING ROADWAY FOR PAV	EMENT				
Bid Rank	Departmen	t Estimate	190.000	\$100.000	\$19,000.00		
1	SEMA CON	ISTRUCTION, INC.		\$33.730	\$6,408.70	-66.3%	
2	J. BANICK	I CONSTRUCTION, INC.		\$67.000	\$12,730.00	-33.0%	
3	FNF CONS	STRUCTION, INC.		\$180.000	\$34,200.00	+80.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$70.000	\$13,300.00	-30.0%	
3030022	CU.YD.	AGGREGATE BASE, CLASS 2					
Bid Rank	Departmen	t Estimate	135.000	\$225.000	\$30,375.00		
1	SEMA CON	ISTRUCTION, INC.		\$175.660	\$23,714.10	- 21.9%	
2	J. BANICK	I CONSTRUCTION, INC.		\$240.000	\$32,400.00	+6.7%	
3	FNF CONS	STRUCTION, INC.		\$200.000	\$27,000.00	-11.1%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$205.000	\$27,675.00	-8.9%	
4040111	TON	BITUMINOUS TACK COAT					
Bid Rank	Departmen	t Estimate	1.000	\$1,500.000	\$1,500.00		
1	SEMA CON	ISTRUCTION, INC.		\$750.000	\$750.00	-50.0%	
2	J. BANICK	CONSTRUCTION, INC.		\$2,100.000	\$2,100.00	+40.0%	

Printed: 9/23/2025 Page 4 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department	Estimate	1.000	\$1,500.000	\$1,500.00	
3	FNF CONS	TRUCTION, INC.		\$600.000	\$600.00	-60.0%
4	TECHNOLO	GY CONSTRUCTION, INC.		\$620.000	\$620.00	-58.7%
4040116	HOUR	APPLY BITUMINOUS TACK COAT	Г			
Bid Rank	Department	Estimate	1.000	\$500.000	\$500.00	
1	SEMA CON	STRUCTION, INC.		\$2,500.000	\$2,500.00	+400.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$3,500.000	\$3,500.00	+600.0%
3	FNF CONS	TRUCTION, INC.		\$200.000	\$200.00	-60.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$2,200.000	\$2,200.00	+340.0%
4040125	TON	FOG COAT				
Bid Rank	Department	Estimate	1.000	\$2,000.000	\$2,000.00	
1	SEMA CON	STRUCTION, INC.		\$2,000.000	\$2,000.00	+0.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$8,300.000	\$8,300.00	+315.0%
3	FNF CONS	TRUCTION, INC.		\$1,620.000	\$1,620.00	-19.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$6,000.000	\$6,000.00	+200.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department	Estimate	1,444.000	\$5.000	\$7,220.00	
1	SEMA CON	STRUCTION, INC.		\$3.000	\$4,332.00	-40.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$6.000	\$8,664.00	+20.0%
3	FNF CONS	TRUCTION, INC.		\$2.000	\$2,888.00	-60.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$3.300	\$4,765.20	-34.0%
4090006	TON	ASPHALTIC CONCRETE (MISCE	LLANEOUS STRUCTURAI	L) (SPECIAL MIX)		
Bid Rank	Department	Estimate	914.000	\$300.000	\$274,200.00	
1	SEMA CON	STRUCTION, INC.		\$200.000	\$182,800.00	-33.3%
2	J. BANICKI	CONSTRUCTION, INC.		\$550.000	\$502,700.00	+83.3%
3	FNF CONS	TRUCTION, INC.		\$250.000	\$228,500.00	-16.7%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$259.000	\$236,726.00	-13.7%
4110001	TON	ASPHALTIC CONCRETE FRICTION	ON COURSE (MISC.)			
Bid Rank	Department	Estimate	35.000	\$400.000	\$14,000.00	
1	SEMA CON	STRUCTION, INC.		\$1,200.000	\$42,000.00	+200.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$3,500.000	\$122,500.00	+775.0%
3	FNF CONS	TRUCTION, INC.		\$400.000	\$14,000.00	+0.0%
4	TECHNOLO	GY CONSTRUCTION, INC.		\$708.000	\$24,780.00	+77.0%
6070006	L.FT.	BREAKAWAY SIGN POST W8X18	3			
Bid Rank	Department	Estimate	60.000	\$100.000	\$6,000.00	
1	SEMA CON	STRUCTION, INC.		\$75.000	\$4,500.00	-25.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$100.000	\$6,000.00	+0.0%
3	FNF CONS	TRUCTION, INC.		\$100.000	\$6,000.00	+0.0%

Printed: 9/23/2025 Page 5 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6070006	L.FT.	BREAKAWAY SIGN POST W8X	18			
Bid Rank	Department	Estimate	60.000	\$100.000	\$6,000.00	
4	TECHNOLO	GY CONSTRUCTION, INC.		\$495.000	\$29,700.00	+395.0%
6070026	EACH	FOUNDATION FOR BREAKAWA	AY SIGN POST W8X18			
Bid Rank	Department	Estimate	3.000	\$1,500.000	\$4,500.00	
1	SEMA CON	STRUCTION, INC.		\$1,500.000	\$4,500.00	+0.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$2,800.000	\$8,400.00	+86.7%
3	FNF CONS	TRUCTION, INC.		\$2,040.000	\$6,120.00	+36.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$1,100.000	\$3,300.00	-26.7%
6070038	EACH	SLIP BASE				
Bid Rank	Department	Estimate	9.000	\$200.000	\$1,800.00	
1	SEMA CON	STRUCTION, INC.		\$350.000	\$3,150.00	+75.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$420.000	\$3,780.00	+110.0%
3	FNF CONS	TRUCTION, INC.		\$450.000	\$4,050.00	+125.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$430.000	\$3,870.00	+115.0%
6070054	L.FT.	SIGN POST (PERFORATED) (2	S)			
Bid Rank	Department	Estimate	20.000	\$25.000	\$500.00	
1	SEMA CON	STRUCTION, INC.		\$30.000	\$600.00	+20.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$30.000	\$600.00	+20.0%
3	FNF CONS	TRUCTION, INC.		\$40.000	\$800.00	+60.0%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$25.000	\$500.00	+0.0%
6070057	L.FT.	SIGN POST (PERFORATED) (2	1/2 T)			
Bid Rank	Department	Estimate	150.000	\$30.000	\$4,500.00	
1	SEMA CON	STRUCTION, INC.		\$40.000	\$6,000.00	+33.3%
2	J. BANICKI	CONSTRUCTION, INC.		\$35.000	\$5,250.00	+16.7%
3	FNF CONS	TRUCTION, INC.		\$50.000	\$7,500.00	+66.7%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$25.000	\$3,750.00	-16.7%
6070060	EACH	FOUNDATION FOR SIGN POST	(CONCRETE)			
Bid Rank	Department	Estimate	11.000	\$300.000	\$3,300.00	
1	SEMA CON	STRUCTION, INC.		\$225.000	\$2,475.00	-25.0%
2	J. BANICKI	CONSTRUCTION, INC.		\$550.000	\$6,050.00	+83.3%
3	FNF CONS	TRUCTION, INC.		\$410.000	\$4,510.00	+36.7%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$560.000	\$6,160.00	+86.7%
6080005	SQ.FT.	REGULATORY, WARNING, OR I	MARKER SIGN PANEL			
Bid Rank	Department	Estimate	110.000	\$30.000	\$3,300.00	
1	SEMA CON	STRUCTION, INC.		\$40.000	\$4,400.00	+33.3%
2	J. BANICKI	CONSTRUCTION, INC.		\$50.000	\$5,500.00	+66.7%
3	FNF CONS	TRUCTION, INC.		\$50.000	\$5,500.00	+66.7%
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$37.000	\$4,070.00	+23.3%

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024086 *** Page 6 of 19

Item Unit of **Compared To** Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** SQ.FT. 6080018 EXTRUDED ALUMINUM SIGN PANEL Bid Rank 220.000 \$55.000 Department Estimate \$12,100.00 SEMA CONSTRUCTION, INC. \$45.000 \$9,900.00 -18.2% 2 J. BANICKI CONSTRUCTION, INC. \$70.000 \$15,400.00 +27.3% 3 FNF CONSTRUCTION, INC. \$60.000 \$13,200.00 +9.1% 4 TECHNOLOGY CONSTRUCTION, INC. \$34.000 \$7,480.00 -38.2% 6080025 SQ.FT. FLAT SHEET ALUMINUM SIGN PANEL Bid Rank Department Estimate 400.000 \$35.000 \$14,000.00 1 SEMA CONSTRUCTION, INC. \$40.000 \$16,000.00 +14.3% 2 J. BANICKI CONSTRUCTION, INC. \$70.000 \$28,000.00 +100.0% 3 FNF CONSTRUCTION, INC. \$51.000 \$20,400.00 +45.7% 4 TECHNOLOGY CONSTRUCTION, INC. \$46.000 \$18,400.00 +31.4% 7015010 L.FT. TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL) Bid Rank Department Estimate 4.980.000 \$25,000 \$124,500.00 1 SEMA CONSTRUCTION, INC. -22.2% \$19.460 \$96,910.80 2 \$32.000 +28.0% J. BANICKI CONSTRUCTION, INC. \$159,360.00 3 FNF CONSTRUCTION, INC. \$26.000 \$129,480.00 +4.0% TECHNOLOGY CONSTRUCTION, INC. \$26,000 \$129,480.00 +4.0% 7015020 **EACH** TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL) Bid Rank Department Estimate 10.000 \$3,500.000 \$35,000.00 SEMA CONSTRUCTION, INC. \$1,650.000 \$16,500.00 -52.9% 2 J. BANICKI CONSTRUCTION, INC. \$2,400.000 \$24,000.00 -31.4% 3 FNF CONSTRUCTION, INC. \$2,500.000 \$25,000.00 -28.6% TECHNOLOGY CONSTRUCTION, INC. \$2,010.000 \$20,100.00 -42.6% 7015091 SQ.FT. SPECIALTY SIGNS Bid Rank Department Estimate 1,036.000 \$25.000 \$25,900.00 1 SEMA CONSTRUCTION, INC. \$15.000 \$15.540.00 -40.0% 2 \$30.000 +20.0% J. BANICKI CONSTRUCTION, INC. \$31,080.00 3 FNF CONSTRUCTION, INC. \$25.000 \$25,900.00 +0.0% \$38.000 4 TECHNOLOGY CONSTRUCTION, INC. \$39,368.00 +52.0% 7016020 L.FT.-DAY TEMPORARY CONCRETE BARRIER (IN USE) Bid Rank Department Estimate 646,000.000 \$0.100 \$64,600.00 1 SEMA CONSTRUCTION, INC. \$0.050 \$32,300.00 -50.0% 2 \$0.100 J. BANICKI CONSTRUCTION, INC. \$64,600.00 +0.0% 3 FNF CONSTRUCTION, INC. \$0.150 \$96,900.00 +50.0% TECHNOLOGY CONSTRUCTION, INC. \$0.060 \$38,760.00 -40.0% 7016021 EACH-DAY TEMPORARY IMPACT ATTENUATORS (IN USE) Bid Rank Department Estimate 1,000.000 \$30.000 \$30,000.00 1 SEMA CONSTRUCTION, INC. \$25.000 \$25,000.00 -16.7%

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024086 *** Page 7 of 19

Unit of Item **Compared To** Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** 7016021 **EACH-DAY** TEMPORARY IMPACT ATTENUATORS (IN USE) Bid Rank \$30.000 Department Estimate 1,000.000 \$30,000.00 2 J. BANICKI CONSTRUCTION, INC. \$38.000 \$38,000.00 +26.7% 3 FNF CONSTRUCTION, INC. \$60.000 \$60,000.00 +100.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$30.500 \$30,500.00 +1.7% 7016030 BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER) EACH-DAY Bid Rank Department Estimate 15,200.000 \$1.000 \$15,200.00 1 SEMA CONSTRUCTION, INC. \$0.200 \$3,040.00 -80.0% 2 J. BANICKI CONSTRUCTION, INC. \$1.000 \$15,200.00 +0.0% 3 FNF CONSTRUCTION, INC. \$0.750 \$11,400.00 -25.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$0.600 \$9,120.00 -40.0% 7016031 EACH-DAY BARRICADE (TYPE 3. HIGH LEVEL FLAG TREE) Bid Rank Department Estimate 1,800.000 \$1.000 \$1,800.00 SEMA CONSTRUCTION, INC. \$0.200 1 \$360.00 -80.0% 2 J. BANICKI CONSTRUCTION, INC. \$2.000 \$3,600.00 +100.0% 3 \$2.000 +100.0% FNF CONSTRUCTION, INC. \$3,600.00 TECHNOLOGY CONSTRUCTION, INC. \$1.000 \$1,800.00 +0.0% 7016032 EACH-DAY PORTABLE SIGN STAND (RIGID) Bid Rank Department Estimate 2,450.000 \$1.000 \$2,450.00 1 SEMA CONSTRUCTION, INC. \$0.500 \$1,225.00 -50.0% 2 J. BANICKI CONSTRUCTION, INC. \$1.000 \$2,450.00 +0.0% 3 FNF CONSTRUCTION, INC. \$0.800 \$1,960.00 -20.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$0.600 \$1,470.00 -40.0% 7016033 EACH-DAY PORTABLE SIGN STAND (SPRING TYPE) Bid Rank Department Estimate 8.940.000 \$1.000 \$8,940.00 1 SEMA CONSTRUCTION, INC. \$0.750 \$6,705.00 -25.0% 2 J. BANICKI CONSTRUCTION, INC. \$2.000 \$17,880.00 +100.0% 3 \$1.000 FNF CONSTRUCTION, INC. \$8,940.00 +0.0% TECHNOLOGY CONSTRUCTION, INC. \$1.500 \$13,410.00 +50.0% 7016035 EACH-DAY WARNING LIGHT (TYPE A) Bid Rank \$0.500 19,626.000 \$9,813.00 Department Estimate 1 SEMA CONSTRUCTION, INC. \$0.100 \$1.962.60 -80.0% 2 J. BANICKI CONSTRUCTION, INC. \$1.000 \$19,626.00 +100.0% 3 FNF CONSTRUCTION, INC. \$0.150 \$2,943.90 -70.0% TECHNOLOGY CONSTRUCTION, INC. \$0.250 \$4,906.50 -50.0% 7016037 EACH-DAY WARNING LIGHT (TYPE C) Bid Rank Department Estimate 15,200.000 \$0.500 \$7,600.00 1 SEMA CONSTRUCTION, INC. \$0.100 \$1,520.00 -80.0% 2 J. BANICKI CONSTRUCTION, INC. \$1.000 \$15,200.00 +100.0%

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024086 *** Page 8 of 19

Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 7016037 **EACH-DAY** WARNING LIGHT (TYPE C) Bid Rank 15,200.000 \$0.500 Department Estimate \$7,600.00 3 FNF CONSTRUCTION, INC. \$0.150 \$2,280.00 -70.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$0.250 \$3,800.00 -50.0% 7016039 EACH-DAY EMBEDDED SIGN POST Bid Rank Department Estimate 14,616.000 \$0.500 \$7,308.00 SEMA CONSTRUCTION, INC. \$0.300 \$4,384.80 -40.0% 2 J. BANICKI CONSTRUCTION, INC. \$2.000 \$29,232.00 +300.0% 3 FNF CONSTRUCTION, INC. \$0.500 \$7,308.00 +0.0% TECHNOLOGY CONSTRUCTION, INC. \$1.320 \$19,293.12 +164.0% 7016050 EACH-DAY TRUCK-MOUNTED ATTENUATOR Bid Rank Department Estimate 41.000 \$1,000.000 \$41,000.00 SEMA CONSTRUCTION, INC. 1 \$325.000 \$13,325.00 -67.5% 2 -60.0% J. BANICKI CONSTRUCTION, INC. \$400.000 \$16,400.00 3 FNF CONSTRUCTION, INC. \$2,000.000 \$82,000.00 +100.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$366.000 \$15,006.00 -63.4% 7016051 EACH-DAY TEMPORARY SIGN (LESS THAN 10 S.F.) Bid Rank Department Estimate 12,760.000 \$1.000 \$12,760.00 1 SEMA CONSTRUCTION, INC. \$0.550 \$7.018.00 -45.0% 2 J. BANICKI CONSTRUCTION, INC. \$1.000 \$12,760.00 +0.0% 3 FNF CONSTRUCTION, INC. \$0.700 \$8,932.00 -30.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$0.750 \$9,570.00 -25.0% 7016052 EACH-DAY TEMPORARY SIGN (10 S.F. OR MORE) Bid Rank Department Estimate 16,266.000 \$1.000 \$16,266.00 SEMA CONSTRUCTION, INC. \$0.750 -25.0% 1 \$12,199.50 2 \$1.000 J. BANICKI CONSTRUCTION, INC. \$16,266.00 +0.0% 3 FNF CONSTRUCTION, INC. \$0.900 \$14,639.40 -10.0% \$0.800 -20.0% TECHNOLOGY CONSTRUCTION, INC. \$13,012.80 7016061 EACH-DAY FLASHING ARROW PANEL Bid Rank 95.000 \$75.000 Department Estimate \$7,125.00 1 SEMA CONSTRUCTION, INC. \$20,000 \$1.900.00 -73.3% 2 J. BANICKI CONSTRUCTION, INC. \$40.000 \$3,800.00 -46.7% 3 FNF CONSTRUCTION, INC. \$25.000 \$2,375.00 -66.7% 4 TECHNOLOGY CONSTRUCTION, INC. \$30.500 \$2,897.50 -59.3% 7016067 EACH-DAY CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED) Bid Rank Department Estimate 1.008.000 \$50.000 \$50,400.00 1 SEMA CONSTRUCTION, INC. \$35,280.00 -30.0% \$35.000 2 J. BANICKI CONSTRUCTION, INC. \$70.000 \$70,560.00 +40.0% 3 FNF CONSTRUCTION, INC. \$60.000 \$60,480.00 +20.0%

Printed: 9/23/2025 Page 9 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016067	EACH-DAY CHANGEABLE MESSAGE BO	DARD (CONTRACTOR FURN	SHED)		
Bid Rank	Department Estimate	1,008.000	\$50.000	\$50,400.00	
4	TECHNOLOGY CONSTRUCTION, INC.		\$59.000	\$59,472.00	+18.0%
7016075	HOUR FLAGGING SERVICES (CIVIL	IAN)			
Bid Rank	Department Estimate	2,600.000	\$60.000	\$156,000.00	
1	SEMA CONSTRUCTION, INC.		\$61.000	\$158,600.00	+1.7%
2	J. BANICKI CONSTRUCTION, INC.		\$80.000	\$208,000.00	+33.3%
3	FNF CONSTRUCTION, INC.		\$50.000	\$130,000.00	-16.7%
4	TECHNOLOGY CONSTRUCTION, INC.		\$67.000	\$174,200.00	+11.7%
7016079	HOUR FLAGGING SERVICES (UNIF	ORMED OFFICER)			
Bid Rank	Department Estimate	2,830.000	\$110.000	\$311,300.00	
1	SEMA CONSTRUCTION, INC.		\$115.000	\$325,450.00	+4.5%
2	J. BANICKI CONSTRUCTION, INC.		\$220.000	\$622,600.00	+100.0%
3	FNF CONSTRUCTION, INC.		\$95.000	\$268,850.00	-13.6%
4	TECHNOLOGY CONSTRUCTION, INC.		\$113.000	\$319,790.00	+2.7%
7017020	L.SUM TEMPORARY AND PORTABL	E TRAFFIC CONTROL SIGNA	AL (INSTALL & REMO	OVE)	
Bid Rank	Department Estimate	1.000	\$30,000.000	\$30,000.00	
1	SEMA CONSTRUCTION, INC.		\$1,875.000	\$1,875.00	-93.8%
2	J. BANICKI CONSTRUCTION, INC.		\$8,000.000	\$8,000.00	-73.3%
3	FNF CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	-66.7%
4	TECHNOLOGY CONSTRUCTION, INC.		\$1,040.000	\$1,040.00	-96.5%
7017025	DAY TEMPORARY AND PORTABL	E TRAFFIC CONTROL SIGNA	AL (IN USE)		
Bid Rank	Department Estimate	100.000	\$250.000	\$25,000.00	
1	SEMA CONSTRUCTION, INC.		\$180.000	\$18,000.00	-28.0%
2	J. BANICKI CONSTRUCTION, INC.		\$300.000	\$30,000.00	+20.0%
3	FNF CONSTRUCTION, INC.		\$750.000	\$75,000.00	+200.0%
4	TECHNOLOGY CONSTRUCTION, INC.		\$116.000	\$11,600.00	-53.6%
7017030	EACH-DAY SEQUENTIAL FLASHING WA	RNING LIGHT			
Bid Rank	Department Estimate	900.000	\$1.000	\$900.00	
1	SEMA CONSTRUCTION, INC.		\$0.500	\$450.00	-50.0%
2	J. BANICKI CONSTRUCTION, INC.		\$3.000	\$2,700.00	+200.0%
3	FNF CONSTRUCTION, INC.		\$1.000	\$900.00	+0.0%
4	TECHNOLOGY CONSTRUCTION, INC.		\$2.400	\$2,160.00	+140.0%
7030070	EACH DELINEATOR (M-31) (SINGLE	E GREEN)			
Bid Rank	Department Estimate	8.000	\$500.000	\$4,000.00	
1	SEMA CONSTRUCTION, INC.		\$175.000	\$1,400.00	-65.0%
2	J. BANICKI CONSTRUCTION, INC.		\$350.000	\$2,800.00	-30.0%
3	FNF CONSTRUCTION, INC.		\$255.000	\$2,040.00	-49.0%
4	TECHNOLOGY CONSTRUCTION, INC.		\$702.000	\$5,616.00	+40.4%

Printed: 9/23/2025 Page 10 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

 ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate			
 7080201	L.FT.	WATERBORNE-TYPE I PAVE	MENT MARKING (PAINTED) (V	WHITE)					
Bid Rank	Department	Estimate	26,150.000	\$0.400	\$10,460.00				
1	SEMA CON	ISTRUCTION, INC.		\$0.110	\$2,876.50	-72.5%			
2	J. BANICKI	CONSTRUCTION, INC.		\$1.000	\$26,150.00	+150.0%			
3	FNF CONS	TRUCTION, INC.		\$0.100	\$2,615.00	- 75.0%			
4	TECHNOLO	DGY CONSTRUCTION, INC.		\$0.250	\$6,537.50	-37.5%			
 7080202	L.FT.	WATERBORNE-TYPE I PAVE	MENT MARKING (PAINTED) (\	YELLOW)					
Bid Rank	Department	Estimate	18,700.000	\$0.400	\$7,480.00				
1	SEMA CON	ISTRUCTION, INC.		\$0.110	\$2,057.00	-72.5%			
2	J. BANICKI	CONSTRUCTION, INC.		\$1.000	\$18,700.00	+150.0%			
3	FNF CONS	TRUCTION, INC.		\$0.100	\$1,870.00	- 75.0%			
 4	TECHNOLO	DGY CONSTRUCTION, INC.		\$0.300	\$5,610.00	-25.0%			
 7080206	EACH	EACH WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)							
Bid Rank	Department	Estimate	4.000	\$300.000	\$1,200.00				
1	SEMA CON	ISTRUCTION, INC.		\$84.250	\$337.00	-71.9%			
2	J. BANICKI	CONSTRUCTION, INC.		\$110.000	\$440.00	-63.3%			
3	FNF CONS	TRUCTION, INC.		\$100.000	\$400.00	-66.7%			
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$122.000	\$488.00	-59.3%			
7090001	L.FT.	DUAL COMPONENT PAVEME	ENT MARKING (WHITE EPOXY	<u>'</u>)					
Bid Rank	Department	Estimate	39,225.000	\$1.000	\$39,225.00				
1	SEMA CON	ISTRUCTION, INC.		\$0.580	\$22,750.50	-42.0%			
2	J. BANICKI	CONSTRUCTION, INC.		\$1.000	\$39,225.00	+0.0%			
3	FNF CONS	TRUCTION, INC.		\$0.600	\$23,535.00	-40.0%			
 4	TECHNOLO	DGY CONSTRUCTION, INC.		\$0.700	\$27,457.50	-30.0%			
7090002	L.FT.	DUAL COMPONENT PAVEME	ENT MARKING (YELLOW EPO)	XY)					
Bid Rank	Department	Estimate	28,050.000	\$1.000	\$28,050.00				
1	SEMA CON	ISTRUCTION, INC.		\$0.580	\$16,269.00	-42.0%			
2	J. BANICKI	CONSTRUCTION, INC.		\$1.000	\$28,050.00	+0.0%			
3	FNF CONS	TRUCTION, INC.		\$0.600	\$16,830.00	-40.0%			
4	TECHNOLO	DGY CONSTRUCTION, INC.		\$0.700	\$19,635.00	-30.0%			
7090012	EACH	DUAL COMPONENT PAVEME	ENT SYMBOL						
Bid Rank	Department	Estimate	4.000	\$500.000	\$2,000.00				
1		ISTRUCTION, INC.		\$219.050	\$876.20	-56.2%			
2	J. BANICKI	CONSTRUCTION, INC.		\$300.000	\$1,200.00	-40.0%			
3	FNF CONS	TRUCTION, INC.		\$400.000	\$1,600.00	-20.0%			
4	TECHNOLO	OGY CONSTRUCTION, INC.		\$488.000	\$1,952.00	-2.4%			
 7100001	L.SUM	SWZ SYSTEM							
Bid Rank	Department	Estimate	1.000	\$30,000.000	\$30,000.00				
1	•	ISTRUCTION, INC.		\$5,200.000	\$5,200.00	-82.7%			
•				, , , , , , , , ,	, -,				

Printed: 9/23/2025 Page 11 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
7100001	L.SUM SWZ SYSTEM					
Bid Rank	Department Estimate	1.000	\$30,000.000	\$30,000.00		
2	J. BANICKI CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	-66.7%	
3	FNF CONSTRUCTION, INC.		\$8,000.000	\$8,000.00	-73.3%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$7,865.000	\$7,865.00	-73.8%	
7100100	EACH-DAY SWZ TDC LOCATION (IN USE)					
Bid Rank	Department Estimate	120.000	\$40.000	\$4,800.00		
1	SEMA CONSTRUCTION, INC.		\$31.000	\$3,720.00	-22.5%	
2	J. BANICKI CONSTRUCTION, INC.		\$80.000	\$9,600.00	+100.0%	
3	FNF CONSTRUCTION, INC.		\$50.000	\$6,000.00	+25.0%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$65.000	\$7,800.00	+62.5%	
7100200	EACH-DAY SWZ CMB ASSEMBLY (IN USE)					
Bid Rank	Department Estimate	40.000	\$80.000	\$3,200.00		
1	SEMA CONSTRUCTION, INC.		\$74.000	\$2,960.00	-7.5%	
2	J. BANICKI CONSTRUCTION, INC.		\$115.000	\$4,600.00	+43.8%	
3	FNF CONSTRUCTION, INC.		\$110.000	\$4,400.00	+37.5%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$93.000	\$3,720.00	+16.3%	
7100300	EACH-DAY SWZ TRAFFIC MONITORING C	AMERA ASSEMBLY (IN US	SE)			
Bid Rank	Department Estimate	40.000	\$70.000	\$2,800.00		
1	SEMA CONSTRUCTION, INC.		\$62.000	\$2,480.00	-11.4%	
2	J. BANICKI CONSTRUCTION, INC.		\$115.000	\$4,600.00	+64.3%	
3	FNF CONSTRUCTION, INC.		\$95.000	\$3,800.00	+35.7%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$93.000	\$3,720.00	+32.9%	
7100500	EACH-DAY SWZ SMART ARROW BOARD					
Bid Rank	Department Estimate	40.000	\$50.000	\$2,000.00		
1	SEMA CONSTRUCTION, INC.		\$35.000	\$1,400.00	-30.0%	
2	J. BANICKI CONSTRUCTION, INC.		\$55.000	\$2,200.00	+10.0%	
3	FNF CONSTRUCTION, INC.		\$55.000	\$2,200.00	+10.0%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$43.000	\$1,720.00	-14.0%	
8050003	ACRE SEEDING (CLASS II)					
Bid Rank	Department Estimate	1.000	\$10,000.500	\$10,000.50		
1	SEMA CONSTRUCTION, INC.		\$7,055.670	\$7,055.67	-29.4%	
2	J. BANICKI CONSTRUCTION, INC.		\$11,000.000	\$11,000.00	+10.0%	
3	FNF CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	0.0%	
4	TECHNOLOGY CONSTRUCTION, INC.		\$12,000.000	\$12,000.00	+20.0%	
8101021	L.FT. EROSION CONTROL (WATTLES	S) (9")				
Bid Rank	Department Estimate	1,000.000	\$5.000	\$5,000.00		
1	SEMA CONSTRUCTION, INC.		\$3.760	\$3,760.00	-24.8%	
2	J. BANICKI CONSTRUCTION, INC.		\$6.000	\$6,000.00	+20.0%	

Printed: 9/23/2025 Page 12 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

Item	Unit of					Compared To	
Number	Measure	Item Description	Quantity	Unit Price	Extended Amount	Dept Estimate	
8101021	L.FT.	EROSION CONTROL (WATTLES)	(9")				
Bid Rank	Departmer	nt Estimate	1,000.000	\$5.000	\$5,000.00		
3	FNF CONS	STRUCTION, INC.		\$5.000	\$5,000.00	+0.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$20.000	\$20,000.00	+300.0%	
9010001	L.SUM	MOBILIZATION					
Bid Rank	Departmer	nt Estimate	1.000	\$925,000.000	\$925,000.00		
1	SEMA CO	NSTRUCTION, INC.		\$696,954.260	\$696,954.26	-24.7%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$644,743.800	\$644,743.80	-30.3%	
3	FNF CONS	STRUCTION, INC.		\$774,000.000	\$774,000.00	-16.3%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$854,000.000	\$854,000.00	-7.7%	
9050004	L.FT.	GUARD RAIL, W-BEAM, SINGLE	FACE (MASH)(STD. C-1	0.04)			
Bid Rank	Departmer	nt Estimate	75.000	\$100.000	\$7,500.00		
1	SEMA CO	NSTRUCTION, INC.		\$78.850	\$5,913.75	-21.2%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$80.000	\$6,000.00	-20.0%	
3	FNF CONS	STRUCTION, INC.		\$70.000	\$5,250.00	-30.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$75.000	\$5,625.00	-25.0%	
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE	FACE (MASH)				
Bid Rank	Departmer	nt Estimate	25.000	\$125.000	\$3,125.00		
1	SEMA CO	NSTRUCTION, INC.		\$78.850	\$1,971.25	-36.9%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$80.000	\$2,000.00	-36.0%	
3	FNF CONS	STRUCTION, INC.		\$70.000	\$1,750.00	-44.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$60.000	\$1,500.00	-52.0%	
9050028	EACH	GUARD RAIL TERMINAL (FLARE	TYPE)				
Bid Rank	Departmer	nt Estimate	2.000	\$5,000.000	\$10,000.00		
1	SEMA CO	NSTRUCTION, INC.		\$7,884.620	\$15,769.24	+57.7%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$7,500.000	\$15,000.00	+50.0%	
3	FNF CONS	STRUCTION, INC.		\$7,000.000	\$14,000.00	+40.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$7,500.000	\$15,000.00	+50.0%	
9050419	EACH	GUARD RAIL TRANSITION (STD	C-10.30)				
Bid Rank	Departmer	nt Estimate	1.000	\$5,000.000	\$5,000.00		
1	SEMA CO	NSTRUCTION, INC.		\$7,884.620	\$7,884.62	+57.7%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$6,400.000	\$6,400.00	+28.0%	
3	FNF CONS	STRUCTION, INC.		\$7,000.000	\$7,000.00	+40.0%	
4	TECHNOL	OGY CONSTRUCTION, INC.		\$6,500.000	\$6,500.00	+30.0%	
9050420	EACH	GUARD RAIL TRANSITION (STD	C-10.31)				
Bid Rank	Departmer	nt Estimate	1.000	\$5,000.000	\$5,000.00		
1	SEMA CO	NSTRUCTION, INC.		\$7,884.620	\$7,884.62	+57.7%	
2	J. BANICK	(I CONSTRUCTION, INC.		\$7,000.000	\$7,000.00	+40.0%	
3	FNF CONS	STRUCTION, INC.		\$7,000.000	\$7,000.00	+40.0%	

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024086 *** Page 13 of 19

Unit of **Compared To** Item Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount EACH** 9050420 GUARD RAIL TRANSITION (STD C-10.31) Bid Rank 1.000 \$5,000.000 Department Estimate \$5,000.00 TECHNOLOGY CONSTRUCTION, INC. \$6,238.100 \$6,238.10 +24.8% 9100008 L.FT. CONCRETE BARRIER (C-10.40) Bid Rank Department Estimate 181.000 \$400.000 \$72,400.00 1 SEMA CONSTRUCTION, INC. \$388.990 \$70,407.19 -2.8% 2 J. BANICKI CONSTRUCTION, INC. \$500.000 \$90,500.00 +25.0% 3 FNF CONSTRUCTION, INC. \$750.000 \$135,750.00 +87.5% 4 TECHNOLOGY CONSTRUCTION, INC. \$400.000 \$72,400.00 +0.0% 9100113 EACH CONCRETE BARRIER TRANSITION (STD C-10.70) Bid Rank Department Estimate 1.000 \$5,000.000 \$5,000.00 1 SEMA CONSTRUCTION, INC. \$27.726.300 \$27,726,30 +454.5% 2 J. BANICKI CONSTRUCTION, INC. \$8,500.000 \$8,500.00 +70.0% 3 FNF CONSTRUCTION, INC. \$25,000.000 \$25,000.00 +400.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$10,000.000 \$10,000.00 +100.0% 9160001 L.FT. **EMBANKMENT CURB** Bid Rank Department Estimate 108.000 \$25.000 \$2,700.00 1 SEMA CONSTRUCTION, INC. \$57.410 \$6.200.28 +129.6% 2 J. BANICKI CONSTRUCTION, INC. \$55.000 \$5,940.00 +120.0% 3 FNF CONSTRUCTION, INC. \$40.000 \$4,320.00 +60.0% TECHNOLOGY CONSTRUCTION, INC. \$90.000 \$9,720.00 +260.0% 9170001 L.FT. **EMBANKMENT SPILLWAY (C-4.10)** Bid Rank Department Estimate 110.000 \$400.000 \$44,000.00 1 SEMA CONSTRUCTION, INC. \$220.370 \$24,240.70 -44.9% 2 J. BANICKI CONSTRUCTION, INC. \$275.000 \$30,250.00 -31.3% 3 FNF CONSTRUCTION, INC. \$150.000 \$16,500.00 -62.5% TECHNOLOGY CONSTRUCTION, INC. \$400.000 \$44,000.00 +0.0% 9170021 **EACH** INLET (C-4.10) (SINGLE) Bid Rank 2.000 Department Estimate \$5,000.000 \$10,000.00 1 SEMA CONSTRUCTION, INC. \$5.716.410 \$11.432.82 +14.3% 2 J. BANICKI CONSTRUCTION, INC. \$13,100.000 \$26,200.00 +162.0% 3 FNF CONSTRUCTION, INC. \$4,500.000 \$9,000.00 -10.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$10,000.000 \$20,000.00 +100.0% 9170042 **EACH OUTLET (C-4.20)** Bid Rank Department Estimate 2.000 \$6,000.000 \$12,000.00 SEMA CONSTRUCTION, INC. -1.2% 1 \$5,926.520 \$11,853.04 2 +366.7% J. BANICKI CONSTRUCTION, INC. \$28,000.000 \$56,000.00 3 FNF CONSTRUCTION, INC. \$3,500.000 \$7,000.00 -41.7% TECHNOLOGY CONSTRUCTION, INC. \$10,000.000 \$20,000.00 +66.7%

Printed: 9/23/2025 Page 14 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

Item Numbe	r	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9230003		HOUR	ON-THE-JOB TRAINING WITH	GOALS			
Bid Rank		Department Estimate		600.000	\$3.000	\$1,800.00	
1		SEMA CON	STRUCTION, INC.		\$3.000	\$1,800.00	+0.0%
2		J. BANICKI	CONSTRUCTION, INC.		\$3.000	\$1,800.00	+0.0%
3		FNF CONS	TRUCTION, INC.		\$3.000	\$1,800.00	+0.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$3.000	\$1,800.00	+0.0%
9240170		L.SUM	CONTRACTOR QUALITY CON	TROL			
Bid Rank		Department	Estimate	1.000	\$150,000.000	\$150,000.00	
1		SEMA CON	STRUCTION, INC.		\$55,028.750	\$55,028.75	-63.3%
2		J. BANICKI	CONSTRUCTION, INC.		\$62,000.000	\$62,000.00	-58.7%
3		FNF CONS	TRUCTION, INC.		\$75,000.000	\$75,000.00	-50.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$60,000.000	\$60,000.00	-60.0%
9250001		L.SUM	CONSTRUCTION SURVEYING	AND LAYOUT			
Bid Rank		Department	Estimate	1.000	\$150,000.000	\$150,000.00	
1		SEMA CON	STRUCTION, INC.		\$80,000.000	\$80,000.00	-46.7%
2		J. BANICKI	CONSTRUCTION, INC.		\$68,000.000	\$68,000.00	-54.7%
3		FNF CONS	TRUCTION, INC.		\$120,000.000	\$120,000.00	-20.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$65,000.000	\$65,000.00	-56.7%
2020009	Α	CU.YD.	REMOVAL OF STRUCTURAL (CONCRETE			
Bid Rank		Department	Estimate	237.000	\$800.000	\$189,600.00	
1		SEMA CON	STRUCTION, INC.		\$870.690	\$206,353.53	+8.8%
2		J. BANICKI	CONSTRUCTION, INC.		\$750.000	\$177,750.00	-6.3%
3		FNF CONS	TRUCTION, INC.		\$1,000.000	\$237,000.00	+25.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$4,500.000	\$1,066,500.00	+462.5%
2020058	Α	L.FT.	REMOVE AND SALVAGE (BRII	DGE RAILING)			
Bid Rank		Department	Estimate	529.000	\$50.000	\$26,450.00	
1		SEMA CON	STRUCTION, INC.		\$42.140	\$22,292.06	-15.7%
2		J. BANICKI	CONSTRUCTION, INC.		\$9.000	\$4,761.00	-82.0%
3			TRUCTION, INC.		\$25.000	\$13,225.00	-50.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$30.000	\$15,870.00	-40.0%
2020156	Α	EACH	REMOVE (ROCKER BEARING	ASSEMBLY)			
Bid Rank		Department	Estimate	8.000	\$2,000.000	\$16,000.00	
1		SEMA CON	STRUCTION, INC.		\$4,706.840	\$37,654.72	+135.3%
2		J. BANICKI	CONSTRUCTION, INC.		\$7,500.000	\$60,000.00	+275.0%
3		FNF CONS	TRUCTION, INC.		\$2,000.000	\$16,000.00	+0.0%
4		TECHNOLO	OGY CONSTRUCTION, INC.		\$3,500.000	\$28,000.00	+75.0%
2020170	Α	SQ.YD.	REMOVE (EXISTING SLOPE F	PAVING)			
Bid Rank		Department	Estimate	540.000	\$50.000	\$27,000.00	
1		SEMA CON	STRUCTION, INC.		\$37.000	\$19,980.00	-26.0%

Printed: 9/23/2025 Page 15 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

Item Number		Unit of Measure Item Description	•			Compared To Dept Estimate
Number		Measure Item Description	Quantity	Unit Price	Extended Amount	Dept Estimate
2020170	Α	SQ.YD. REMOVE (EXISTING SLO	PE PAVING)			
Bid Rank		Department Estimate	540.000	\$50.000	\$27,000.00	
2		J. BANICKI CONSTRUCTION, INC.		\$35.000	\$18,900.00	-30.0%
3		FNF CONSTRUCTION, INC.		\$40.000	\$21,600.00	-20.0%
4		TECHNOLOGY CONSTRUCTION, INC.		\$45.000	\$24,300.00	-10.0%
2020366	Α	L.SUM REMOVE LEAD-BASED P.	AINT MATERIALS			
Bid Rank		Department Estimate	1.000	\$25,000.000	\$25,000.00	
1		SEMA CONSTRUCTION, INC.		\$29,958.760	\$29,958.76	+19.8%
2		J. BANICKI CONSTRUCTION, INC.		\$40,000.000	\$40,000.00	+60.0%
3		FNF CONSTRUCTION, INC.		\$50,000.000	\$50,000.00	+100.0%
4		TECHNOLOGY CONSTRUCTION, INC.		\$40,000.000	\$40,000.00	+60.0%
2020370	Α	L.SUM DISPOSE OF LEAD-BASE	D PAINT MATERIALS (FORCE A	CCOUNT)		
Bid Rank		Department Estimate	1.000	\$10,000.000	\$10,000.00	
1		SEMA CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
2		J. BANICKI CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
3		FNF CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
4		TECHNOLOGY CONSTRUCTION, INC.		\$10,000.000	\$10,000.00	+0.0%
2030501	Α	CU.YD. STRUCTURAL EXCAVATION	NC			
Bid Rank		Department Estimate	70.000	\$300.000	\$21,000.00	
1		SEMA CONSTRUCTION, INC.		\$1,641.380	\$114,896.60	+447.1%
2		J. BANICKI CONSTRUCTION, INC.		\$600.000	\$42,000.00	+100.0%
3		FNF CONSTRUCTION, INC.		\$360.000	\$25,200.00	+20.0%
4		TECHNOLOGY CONSTRUCTION, INC.		\$200.000	\$14,000.00	-33.3%
2030506	Α	CU.YD. STRUCTURE BACKFILL				
Bid Rank		Department Estimate	85.000	\$325.000	\$27,625.00	
1		SEMA CONSTRUCTION, INC.		\$200.180	\$17,015.30	-38.4%
2		J. BANICKI CONSTRUCTION, INC.		\$300.000	\$25,500.00	-7.7%
3		FNF CONSTRUCTION, INC.		\$450.000	\$38,250.00	+38.5%
4		TECHNOLOGY CONSTRUCTION, INC.		\$500.000	\$42,500.00	+53.8%
2030904	Α	CU.YD. BORROW (IN PLACE)				
Bid Rank		Department Estimate	353.000	\$120.000	\$42,360.00	
1		SEMA CONSTRUCTION, INC.		\$25.210	\$8,899.13	-79.0%
2		J. BANICKI CONSTRUCTION, INC.		\$150.000	\$52,950.00	+25.0%
3		FNF CONSTRUCTION, INC.		\$100.000	\$35,300.00	-16.7%
4		TECHNOLOGY CONSTRUCTION, INC.		\$300.000	\$105,900.00	+150.0%
6010003	Α	CU.YD. STRUCTURAL CONCRET	E (CLASS S) (F'C = 3,500)			
Bid Rank		Department Estimate	123.000	\$2,500.000	\$307,500.00	
1		SEMA CONSTRUCTION, INC.		\$4,747.740	\$583,972.02	+89.9%
2		J. BANICKI CONSTRUCTION, INC.		\$2,000.000	\$246,000.00	-20.0%

Printed: 9/23/2025 Page 16 of 19 *** Bid Tabs for Proposal Pamphlet 2024086 ***

	ltem Number		Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
601	10003	Α	CU.YD.	STRUCTURAL CONCRETE (CLA	SS S) (F'C = 3,500)				_
Bio	d Rank		Department	Estimate	123.000	\$2,500.000	\$307,500.00		
	3		FNF CONST	TRUCTION, INC.		\$3,500.000	\$430,500.00	+40.0%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$3,000.000	\$369,000.00	+20.0%	
601	10102	Α	CU.YD.	SILICA FUME CONCRETE FOR I	BRIDGE DECKS				_
Bio	d Rank		Department	Estimate	284.000	\$1,250.000	\$355,000.00		
	1		SEMA CON	STRUCTION, INC.		\$4,901.240	\$1,391,952.16	+292.1%	
	2		J. BANICKI	CONSTRUCTION, INC.		\$2,800.000	\$795,200.00	+124.0%	
	3		FNF CONST	TRUCTION, INC.		\$3,200.000	\$908,800.00	+156.0%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$2,600.000	\$738,400.00	+108.0%	_
601	10508	Α	L.SUM	BRIDGE REPAIR (FLAME STRAI	GHTEN GIRDERS, STIFFE	NERS and STRUTS	S)		
Bio	d Rank		Department	Estimate	1.000	\$50,000.500	\$50,000.50		
	1		SEMA CON	STRUCTION, INC.		\$49,670.000	\$49,670.00	-0.7%	
	2		J. BANICKI	CONSTRUCTION, INC.		\$60,000.000	\$60,000.00	+20.0%	
	3		FNF CONST	TRUCTION, INC.		\$85,000.000	\$85,000.00	+70.0%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$66,000.000	\$66,000.00	+32.0%	
601	11150	Α	L.FT.	SINGLE SLOPE BRIDGE CONCE	RETE BARRIER AND TRAN	SITION (38")			
Bio	d Rank		Department	Estimate	572.000	\$400.000	\$228,800.00		
	1		SEMA CON	STRUCTION, INC.		\$215.250	\$123,123.00	-46.2%	
	2		J. BANICKI	CONSTRUCTION, INC.		\$265.000	\$151,580.00	-33.8%	
	3		FNF CONST	TRUCTION, INC.		\$300.000	\$171,600.00	-25.0%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$300.000	\$171,600.00	-25.0%	
601	11343	Α	L.FT.	DECK JOINT ASSEMBLY (FLANC	GELESS STRIP SEAL)				
Bio	d Rank		Department	Estimate	80.000	\$600.000	\$48,000.00		
	1		SEMA CON	STRUCTION, INC.		\$1,361.270	\$108,901.60	+126.9%	
	2		J. BANICKI	CONSTRUCTION, INC.		\$1,400.000	\$112,000.00	+133.3%	
	3		FNF CONST	TRUCTION, INC.		\$1,000.000	\$80,000.00	+66.7%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$300.000	\$24,000.00	-50.0%	
601	11371	Α	SQ.FT.	APPROACH SLAB (SD 2.01)					
Bio	d Rank		Department	Estimate	1,422.000	\$100.000	\$142,200.00		
	1		SEMA CONSTRUCTION, INC.			\$77.460	\$110,148.12	-22.5%	
	2		J. BANICKI CONSTRUCTION, INC.			\$65.000	\$92,430.00	-35.0%	
	3		FNF CONST	TRUCTION, INC.		\$75.000	\$106,650.00	-25.0%	
	4		TECHNOLO	GY CONSTRUCTION, INC.		\$80.000	\$113,760.00	-20.0%	
601	15203	Α	EACH	BEARING (ELASTOMERIC)					_
Bio	d Rank		Department		12.000	\$5,000.000	\$60,000.00		
	1		SEMA CON	STRUCTION, INC.		\$1,408.960	\$16,907.52	-71.8%	
	2			CONSTRUCTION, INC.		\$3,500.000	\$42,000.00	-30.0%	
	3		FNF CONST	TRUCTION, INC.		\$5,000.000	\$60,000.00	+0.0%	

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024086 *** Page 17 of 19

Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 6015203 A **EACH** BEARING (ELASTOMERIC) Bid Rank 12.000 \$5,000.000 Department Estimate \$60,000.00 TECHNOLOGY CONSTRUCTION, INC. \$1,400.000 \$16,800.00 -72.0% 6040001 STRUCTURAL STEEL ΙB Bid Rank Department Estimate 191,320.000 \$6.000 \$1,147,920.00 1 SEMA CONSTRUCTION, INC. \$3.840 \$734,668.80 -36.0% 2 J. BANICKI CONSTRUCTION, INC. \$5.300 \$1,013,996.00 -11.7% 3 FNF CONSTRUCTION, INC. \$6.040 \$1,155,572.80 +0.7% 4 TECHNOLOGY CONSTRUCTION, INC. \$5.400 \$1,033,128.00 -10.0% JACKING BRIDGE SUPERSTRUCTURE 6041001 L.SUM Bid Rank 1.000 Department Estimate \$45,000.000 \$45,000.00 1 SEMA CONSTRUCTION, INC. \$101.590.090 \$101.590.09 +125.8% 2 J. BANICKI CONSTRUCTION, INC. \$90,000.000 \$90,000.00 +100.0% 3 FNF CONSTRUCTION, INC. \$75,000.000 \$75,000.00 +66.7% 4 TECHNOLOGY CONSTRUCTION, INC. \$152,000.000 \$152,000.00 +237.8% 6050002 A LB. REINFORCING STEEL Bid Rank 18,385.000 Department Estimate \$3.000 \$55,155.00 1 SEMA CONSTRUCTION, INC. \$1.210 \$22,245,85 -59.7% 2 J. BANICKI CONSTRUCTION, INC. \$2.000 \$36,770.00 -33.3% 3 FNF CONSTRUCTION, INC. \$1.700 \$31.254.50 -43.3% TECHNOLOGY CONSTRUCTION, INC. \$1.850 \$34,012.25 -38.3% 6050012 A LB. REINFORCING STEEL (EPOXY COATED) Bid Rank Department Estimate 106,440.000 \$3.500 \$372.540.00 1 SEMA CONSTRUCTION, INC. \$1.410 -59.7% \$150,080.40 2 \$2.100 \$223,524.00 -40.0% J. BANICKI CONSTRUCTION, INC. 3 FNF CONSTRUCTION, INC. \$2.000 \$212,880.00 -42.9% TECHNOLOGY CONSTRUCTION, INC. \$1.850 \$196,914.00 -47.1% 6050101 **EACH** PLACE DOWELS Bid Rank Department Estimate 338.000 \$50.000 \$16,900.00 1 SEMA CONSTRUCTION, INC. \$57.050 \$19.282.90 +14.1% 2 J. BANICKI CONSTRUCTION, INC. \$69,000 \$23.322.00 +38.0% 3 FNF CONSTRUCTION, INC. \$40.000 \$13,520.00 -20.0% 4 TECHNOLOGY CONSTRUCTION, INC. \$83.000 \$28,054.00 +66.0% 6090060 Α L.FT. DRILLED SHAFT FOUNDATION (60") Bid Rank Department Estimate 99.000 \$4,500.000 \$445,500.00 SEMA CONSTRUCTION, INC. \$985.390 \$97,553.61 -78.1% 1 2 -66.7% J. BANICKI CONSTRUCTION, INC. \$1,500.000 \$148,500.00 3 FNF CONSTRUCTION, INC. \$1,600.000 \$158,400.00 -64.4% TECHNOLOGY CONSTRUCTION, INC. \$4,242.000 \$419,958.00 -5.7%

Printed: 9/23/2025 Page 18 of 19

*** Bid Tabs for Proposal Pamphlet 2024086 ***

Item Number	•	Unit of Measure Item D	escription	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6090084	Α	L.FT. DRILL	ED SHAFT FOUNDATION (8	34")			
Bid Rank		Department Estimate)	35.000	\$6,500.000	\$227,500.00	
1		SEMA CONSTRUCT	ION, INC.		\$2,075.900	\$72,656.50	-68.1%
2		J. BANICKI CONSTRUCTION, INC.			\$3,360.000	\$117,600.00	-48.3%
3		FNF CONSTRUCTION	N, INC.		\$3,000.000	\$105,000.00	-53.8%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$7,346.000	\$257,110.00	+13.0%
6091030	Α	L.FT. DRILL	ED SHAFTS (ROCK) (54")				
Bid Rank		Department Estimate	•	20.000	\$9,000.000	\$180,000.00	
1		SEMA CONSTRUCT	ION, INC.		\$7,066.970	\$141,339.40	-21.5%
2		J. BANICKI CONSTR	RUCTION, INC.		\$5,530.000	\$110,600.00	-38.6%
3		FNF CONSTRUCTION	N, INC.		\$10,000.000	\$200,000.00	+11.1%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$15,340.000	\$306,800.00	+70.4%
6091031	Α	L.FT. DRILL	ED SHAFTS (ROCK) (78")				
Bid Rank		Department Estimate)	18.000	\$11,000.000	\$198,000.00	
1		SEMA CONSTRUCT	ION, INC.		\$8,022.240	\$144,400.32	-27.1%
2		J. BANICKI CONSTR	RUCTION, INC.		\$6,210.000	\$111,780.00	-43.5%
3		FNF CONSTRUCTION	N, INC.		\$11,000.000	\$198,000.00	+0.0%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$18,085.000	\$325,530.00	+64.4%
6100026	Α	SQ.FT. PAIN	STRUCTURE (EXISTING S	TRUCTURAL STEEL)			
Bid Rank		Department Estimate	!	15,648.000	\$10.000	\$156,480.00	
1		SEMA CONSTRUCT	ION, INC.		\$2.550	\$39,902.40	-74.5%
2		J. BANICKI CONSTR	RUCTION, INC.		\$3.400	\$53,203.20	-66.0%
3		FNF CONSTRUCTION	N, INC.		\$3.000	\$46,944.00	-70.0%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$5.000	\$78,240.00	-50.0%
9210007	Α	SQ.YD. SLOP	E PAVING (EXPOSED AGG	REGATE)			
Bid Rank		Department Estimate	•	842.000	\$200.000	\$168,400.00	
1		SEMA CONSTRUCT	ION, INC.		\$261.930	\$220,545.06	+31.0%
2		J. BANICKI CONSTR	RUCTION, INC.		\$216.000	\$181,872.00	+8.0%
3		FNF CONSTRUCTION	N, INC.		\$280.000	\$235,760.00	+40.0%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$145.000	\$122,090.00	-27.5%
9240010	Α	L.SUM FORC	E ACCOUNT WORK (REINF	FORCED CONCRETE REP	AIR)		
Bid Rank		Department Estimate	•	1.000	\$20,000.000	\$20,000.00	
1		SEMA CONSTRUCT	ION, INC.		\$20,000.000	\$20,000.00	+0.0%
2		J. BANICKI CONSTR	RUCTION, INC.		\$20,000.000	\$20,000.00	+0.0%
3		FNF CONSTRUCTION	N, INC.		\$20,000.000	\$20,000.00	+0.0%
4		TECHNOLOGY CON	ISTRUCTION, INC.		\$20,000.000	\$20,000.00	+0.0%
9240117	Α	A SQ.FT. MISCELLANEOUS WORK (BRIDGE REPAIR)(PENETRATING SEALER)					
Bid Rank		Department Estimate		1,154.000	\$15.000	\$17,310.00	
1		SEMA CONSTRUCT	ION, INC.		\$7.830	\$9,035.82	-47.8%

Printed: 9/23/2025 Page 19 of 19

*** Bid Tabs for Proposal Pamphlet 2024086 ***

Item Number	•	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240117	Α	SQ.FT.	MISCELLANEOUS WORK (BRID	GE REPAIR)(PENETRATIN	G SEALER)		
Bid Rank		Departmen	t Estimate	1,154.000	\$15.000	\$17,310.00	
2		J. BANICK	I CONSTRUCTION, INC.		\$9.000	\$10,386.00	-40.0%
3		FNF CONS	STRUCTION, INC.		\$3.000	\$3,462.00	-80.0%
4		TECHNOL	OGY CONSTRUCTION, INC.		\$10.000	\$11,540.00	-33.3%
9240120	Α	EACH	MISCELLANEOUS WORK (ADD	SHEAR STUDS TO EXIST.	ABUTMENT DIAPH	RAGM)	
Bid Rank		Departmen	t Estimate	66.000	\$25.000	\$1,650.00	
1		SEMA CON	NSTRUCTION, INC.		\$58.730	\$3,876.18	+134.9%
2		J. BANICK	I CONSTRUCTION, INC.		\$80.000	\$5,280.00	+220.0%
3		FNF CONS	STRUCTION, INC.		\$100.000	\$6,600.00	+300.0%
4		TECHNOL	OGY CONSTRUCTION, INC.		\$185.000	\$12,210.00	+640.0%
9240121	Α	EACH	MISCELLANEOUS WORK (ADD	CONNECTOR PLATES TO	EXIST. GIRDERS)		
Bid Rank		Departmen	t Estimate	8.000	\$4,000.000	\$32,000.00	
1		SEMA CON	NSTRUCTION, INC.		\$4,831.330	\$38,650.64	+20.8%
2		J. BANICK	I CONSTRUCTION, INC.		\$5,020.000	\$40,160.00	+25.5%
3		FNF CONS	STRUCTION, INC.		\$6,000.000	\$48,000.00	+50.0%
4		TECHNOL	OGY CONSTRUCTION, INC.		\$3,560.000	\$28,480.00	-11.0%
9240122	Α	EACH	MISCELLANEOUS WORK (ADD	BEARING ASSEMBLIES TO	EXIST. GIRDERS)	
Bid Rank		Departmen	t Estimate	8.000	\$1,250.000	\$10,000.00	
1		SEMA CON	NSTRUCTION, INC.		\$3,560.700	\$28,485.60	+184.9%
2		J. BANICK	I CONSTRUCTION, INC.		\$6,450.000	\$51,600.00	+416.0%
3		FNF CONS	STRUCTION, INC.		\$5,600.000	\$44,800.00	+348.0%
4		TECHNOL	OGY CONSTRUCTION, INC.		\$5,380.000	\$43,040.00	+330.4%
9240127	Α	EACH	MISCELLANEOUS WORK (DRIL	L HOLES THROUGH EXIST	BEARING STIFFE	ENERS)	
Bid Rank		Departmen	t Estimate	24.000	\$300.000	\$7,200.00	
1		SEMA CON	NSTRUCTION, INC.		\$111.390	\$2,673.36	-62.9%
2		J. BANICK	I CONSTRUCTION, INC.		\$150.000	\$3,600.00	-50.0%
3		FNF CONS	STRUCTION, INC.		\$200.000	\$4,800.00	-33.3%
4		TECHNOL	OGY CONSTRUCTION, INC.		\$290.000	\$6,960.00	-3.3%